f5l&KE / Diaphragm Valve

VIGOUR

VDV33UB %%l

I ~=Ri5a <=

o ERTHESHFIERSNREPEEA. SNBSS !

- HiBEREN, BEEHNTSEE, SHITRMMSEYE -

o AT, BRFBITFRAS

o (ESHTHESSE L = -

. EPFRERERME s

« FEIREEREL S PCTFE, Vespel® / PFA ik e

EE / EhEHR s
talgg =

1/4 8

25"”.?&‘@3&@:**} ***** ﬂ*zofcizssﬁe? ***** ; ****** :f"*
i R R R T
R R e T R R
e I

[ | | | | |
] R N R T

| | | | |

-10 (‘) 2‘0 40 6‘0 8‘0 1(‘)0
mE (°0)

I EeARSE 128
A LIEED: 3000 psig (200 bar)
SEIIEES: 58~87psig (4~6bar)
BALIERE. 14°F ~ 104°F (-10°C ~ 40°C)
TEGEE: 10uin. Ra
4R
B TS
&R Elgiloy®
CZEDE S PCTFE
ES TR AL
SRR <1x10° mbar I/s He
HMEBthREER: <1x10° mbar I/s He
MESE 1/4" Cv=0.27, 3/8" 1/2" Cv=0.5
BE: £90.27kg (BUR T ZERELIEIN)




VIGOUR Diaphragm Valve / [Bi5HE
VDV33UB %I

= I A LI
\\ ) ‘ & )
i OPEN 07 o OPEN 0°
2M5X0.8~_ | 2M5X08 |
DP6 - ‘ DP6 5 ‘
HaB- | GHE
RS v ”
£ E
1/4 FaBY (VFS JMEL) 1/4 FapBY (VFS PIIELY)
A LIT A LT
i q @ Y | ~ {q @ Y
| { ) ! \ )
Nt N
= 2-M5x0.8 OPEN 0° B 2M5x0.8~ OPEN O°
DP6 \ DP6 gt
i ieE B NG D
I 4 B -
; L
E
1/2 FapBY (VFS L) 3/8, 1/2 FahEL (VFS JMEL)

2-M5X0.8~ I

i |
@7 oo b- i i DPiEf \7Eu
E”h - =i ELP

1/4 SEEL (VFS SMELL HiF) 1/4 SEhEY (VFS MRS HTF)

L%
|
|
|
|

A
|
I
i
)
i
— DP§
d @E

‘ 2-M5X0.8 )
T W
e L

1/4 SEhBY (VFS REREL &) 1/4 SEhBd (VFS PR ET)




fEi=HE / Diaphragm Valve VIGOUR
VDV33UB %%

=R~ (mm)

2-M5X0.8

I
2-M5X0.8
DP6 DP6 -
5 HEER i
O
|
[
E

el | BT B

L
1/2 SEHBL (VFS U84 Ei) 3/8, 1/2 SahBY (VFS ML EiF)
FapE SahE (BFHER)
uhCERE FLORY RS (mm) iR Rzt | FORY R (mm)

(mm) ™A B clE FI L [H (mm) A B | C D EJFL H

1/4" VFS JMELL 44 ®54 | 28 [11.1 | 18 | 28 | 58.7 | 74 1/4" VFS SMEE N.C 44 | ®56.5| 28 | 11.1 | M5x0.8 | 18 | 28 | 58.7 | 90.5
1/4" VFS PRt 44 | ®54 | 28 [11.1 | 18 | 28| 716 | 74 1/4" VFS SN N.O 44 | ®58 | 28 | 11.1 | M5x0.8 | 18 | 28 [ 587|134
3/8" VFS SN 7 54 | 47.1[182 | 27 | 38 [ 122.2] 86 1/4" VFS RIB N.C 44 | ®565] 28 | 11.1 | M5x0.8 | 18 | 28 | 71.6 [ 90.5
1/2" VFS SMBL 7 54 | 47.1[182 | 27 | 38 [123.2] 86 1/4" VFS PRI N.O 44 | ®58 | 28 | 11.1 | M5x0.8 | 18 | 28 | 71.6 | 134
1/2" VFS RIB 7 54 | 471182 | 27 | 38 ]123.2] 86 3/8" VFS SMREL N.C 7 56.5 [47.1| 18.2 | M5x0.8 | 27 | 38 [122.2] 105
1/2" VFS SN N.C 7 56.5 |47.1| 18.2 | M5x0.8 | 27 | 38 [123.2] 105

1/2" VFS P N.C 7 56.5 |47.1| 182 | M5x0.8 | 27 | 38 [123.2] 105

174", 3/8" 172" EHRIRESE, HEERLNEEaTI .

1iT&

VDV33UBS -M -A - MV4 - MV4 - PA -P

)5 4 t TZ#H58
S: 316L ZSE: VS001B
P: VSO01A
KzhE= - EEESEANR.
PO: L (1) * - [EERER
PC: S (%) IO =8 PCTFE ()
* SHBEFHETERERTH1/4 thch MV4: 1/4" VFS ML \Pfi; \Pfszpel
FV4: 1/4" VFS PRIy :
TW4: 1/4" (2EIEE
SEEAM — MV6: 1/2" VFS 424 3/8" O.D.
PETHZEP66: SIS EE. FV6: 1/2" VFS igex 3/8" O.D.

TW6: 3/8" |8i=iEe
MV8: 1/2" VFS 4MBLy
FV8: 1/2" VFS P&
TW8: 1/2" ISisiss
© EERATE, SR,




VIGOUR

Diaphragm Valve / [GH5HE
SEREE

1 isO0==EA:
* P,
< P “P1: HSER
1] < <3 :
[¢] *P2: HEED
+ P,
I RinORESKE
P,
- A, .
*P 2
m-> +[ ‘e K P | >3
| =RORESKE
P P P P P, P, P, P
-»> -> [1]« < < -> [1]« <
v P: v P 4P 4P
“cr Bl “D" #® ) “FroBY
P4 P, P4 P4
] -> [1]» <
4P v P
R ) “H" B
I Wis O RESEE
[4] [4]
40, 4p, VP,
P P, P4 Py P P
> -> > <« < <«
v P: vV P: 4P,
oA ) B (K|




